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Calculate the probability for each of the possibilities, put those
values in a wave, and plot a distribution.
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Number of €'s rolled with 3 dice

Estimate the average number of 6's rolled.
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Calculate the average number of 6's rolled.

b woesiats | (VIOL e WaaA »ym uqoudr\
()m‘awu ii(m i wl-pmlo

X =

v L
T

Sul\/\( \




Poisson Distribution
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The Poisson distribution (] Wri./mg)
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Let's consider a process that has an average of 1 event per rr)inute.
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Could there be 0 events in 1 minute?
2 events in 1 minute?

3 events in 1 minute? ¢

10 events in 1 minute?

20 events in 1 minute?
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Calculate the probability of 0, 1, 2, 3, 4 events in 1 minute
when the average rate is 1 event per minute. (Make a wave and

display it.) " _
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